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o Please check that this question paper contains 23 printed pages.

o Code number given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

o Please check that this question paper contains 36 questions.

o Please write down the Serial Number of the question before attempting
it.

o 15 minute time has been allotted to read this question paper. The question paper
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read the question paper only and will not write any answer on the answer-book
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General Instructions :

()

(11)
(iii)
(iv)

O

(vi)

(vit)

The question paper comprises two Sections, A and B. You are to attempt both the
sections.

All questions are compulsory.
There is no choice in any of the questions.

All questions of Section A and all questions of Section B are to be attempted
separately.

Question numbers 1 to 3 in Section A are one-mark questions. These are to be
answered in one word or in one sentence.

Question numbers 4 to 6 in Section A are two-marks questions. These are to be
answered in about 30 words each.

Question numbers 7 to 18 in Section A are three-marks questions. These are to be
answered in about 50 words each.

(viii) Question numbers 19 to 24 in Section A are five-marks questions. These are to be

answered tn about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice questions based on
practical skills. Each question is a one-mark question. You are to select one most
appropriate response out of the four provided to you.

(x) Question numbers 34 to 36 in Section B are two-marks questions based on practical
skills. These are to be answered in brief.
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HIT - A

SECTION - A

1. TUoekdl & G99 S0 & 98 9ee 1 AW SR g3 fafeu| 1

Write the name and molecular formula of the first member of the homologous

series of alkynes.

2. DNA®RNE? 1

What is DNA ?

: : . 1
3. = <t T SRR YEen | "G Hl 5 J el U § | 3G TR W fhat e
Sy o ?

1Y — 9€ - HHd

In the following food chain, 5 J of energy is available to man. How much energy

was available at the producer level ?

Plant — Sheep —» Man

4. 394 <Y g1 oA forel o gfafewai & =R @&on ot g aEE | 2
List four characteristics of the images of the objects formed by convex mirrors.
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5. o ffiEtoie oTafirel g Soe 9R wEensl # gE sE | 2

List four problems caused by non-biodegradable wastes.

6. ‘'S fafauar” = &2 Ifc fordt & =1 ‘'S fafgyar’’ ufwfed =& wal 8, 2
T 9T 1 IROMY BN ?  had U 49E faf@gy |

What is “biodiversity” ? What will happen, if “biodiversity” of an area is not
preserved. Write only one effect.

7.  UIAMA &t Hifgam urg @ stfufran g1 ke areft 19 w1 AW fafaw ) woHtfe 3
Y TH T fhE YR 9T XA 8 2 ST S| & I & foru qamfTe T
ST 39 Afafshan § o1wt Sl YfHeRT 1 Seci@ il |

Name the gas liberated when ethanol reacts with Sodium metal ? How do we

get ethene from ethanol ? Write chemical equation to justify your answer.
State the role of acid in this reaction.

8. Tohleldl IR wEifedfceh 3Tl o sig YT faded & fau < wham fafew) 3
I qhem fee gar fou S €2

List two tests to experimentally distinguishing between an alcohol and a

carboxylic acid. How are these tests performed ?
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9. f&Hl T@ X 1 soaRi-® fo=d 2, 8, 8, 2 81 O X MYfieh oTed unvft & 3
IETS)

(a) FEd qdn
b fFaage ¥ 2 9fc X el o a0 v (W] e 16) 9 stfufswan &6,

@ & aTel AR 1 A fAaf@u | 3799 J&ish TR0l o IR 1 HRU Fied
gfte sifST |

The electronic configuration of an element X’ is 2, 8, 8, 2. To which

(a) Period and

(b) Group of the modern periodic table does X’ belong. Write the formula of
the compound formed when X’ reacts with Y’ (atomic number 16). Justify
your answer in each case.

10. fodl o &1 e fo=m 2, 8, 7 71 3

(a) I A MYFH ATad RO & g o7red o) wqe # o1 €2

(b) 9 T B T HEA R ? FE T I § AYS AU ? H?

(¢ TH T hl GG 3R 39 T o FHM THEMAS 00 o fhdl T 31
qcd o1 W fafay |
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An element has electronic configuration 2, 8, 7.

(a)

(b)

(©)

11. (a)

(b)

(a)

(b)

12. (a)

(b)

531/2
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To which group and period of the Modern Periodic Table does it belong ?

What is the atomic number of this element ? Is it metallic or non-metallic
and why ?

Identify the element and name an element chemically similar to this
element.

Sial B wued #1 €7 U8 fRdt sgaitve g sfa w1 A fafae s gw fafy
ENI ST A B

TeeHe (qAsi) e YR Tl €27 98 Ulohan |t Sqatl # dva =i
Tl 77

What is fragmentation in organisms ? Name a multicellular organism

which reproduces by this method.

How does regeneration take place ? Why is this process not possible in
all animals ?

Y Oy fafe—l o1 ST o IR SR S g SRy

Ffe g Afeet HIR - T H1 STET = Gl §, @ F1 98 U Al g=ika
UM § IR 999 FH | GgEFk B2 3704 IW i wRU Figd gfte
HifTT |
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(a) List four reasons for adopting contraceptive methods.

(b) If a woman is using Copper - T, will it help in protecting her from sexually
transmitted diseases ? Give reason in support of your answer.

13. () TTo=m aoft Sua g 8, 99 e (fewiicat) wgemd (Whad) & 7ey 3
T g1 €1 ZHRT HROT ST |

(b) dIfIehT & €9 § Y1) AR 7ve (fem) & g <1 faveTsrt deo &t gt
SR |

(a) Fertilization is possible if ovulation has taken place during middle of

menstrual cycle. Give reasons.

(b) List in tabular form two distinguishing features between a sperm and an
ovum.

14. < ‘'fd 3IgwE’ ¥ 1 Ac9d €27 3 IR U@ FHRehI hi P IR HR wRor 3
Sfd 39T BT 81 98 | A TR TS & Ul o S 3Wd &1 THE
FNH TEl & Fehell, R i ?

What is meant by the term speciation ? List four factors which could lead to

speciation ? Which of these can not be a major factor in the speciation of a
self pollinating plant species and why ?
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15. ToRe foan 4 o109 O 1 & A fommer § afgen feamn we, < fod fommem 3
ST o q991d 3H ek J Toremerd ST & |91 oL farm | |l St g’ R0 g8 SiH
TR 3G ASh A Iar Tk TR Fhell & F© fomnefl, Igwt =wS w1 v 9of g9
F R, 3H feen R an X &1 31y 3@ famneff & gewiet €, oI ofuw @%
IS AT T, IR 3 IE off =9Rd § o a8 foume™ & 1 39|

(a) 1 fRet & g0 fordll o1 off SE! 99S & T 9 YAl Aifae (=)
g2 F?

(b) I T LT ATV & TaT TSI 2 379 IR 1 Y Hifaq |

(© Hfoss ¥ TE} w2 T &, 396 fau foume™g &1 w1 S =@fey ?

A father got his son admitted to a new school. However, after attending the

school for two days the boy refused to go to school. Upon enquiry he told his
mother that few students of his class tease and harass him for his dark skin
colour. You being one of his classmates are fond of him and do not want him
to leave the school.

(a) Is it ethical to call someone based on his skin colour ? Why ?

(b) Isit an inherited or an acquired trait ? Justify your answer.

(¢ What should the school do to avoid such incidents in future ?
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16. (2) 9= & FoFel Tom @ Ja0 w0 W g & W () gAEd % w9, (i) el O
& THY e fe@i e ®? U@ @i (a0if) # 1<) w1 R fafgu )

(b) ARG I SR el o TIAF W FHIeT Fdid &Il & | 39T HROT fafay |

(@) What will be the colour of Sun when it is observed from a place on the

earth (1) early in the morning, (i1) at the noon ? State the reason for the
change in colour observed.

(b) The sky appears dark instead of blue to an astronaut. State its reason.

17. ®E 6 cm N {94 15 cm BIHT g0 & fovdl 390 o & g7 o191 W feem@ g1 3
o T @8 A T 10 cm T 1 TH-FF 1 STAN ik 4 aTcl Fidtoeal s feefq,
qiesl AR Yhfa I i |

A 6 cm tall object is placed perpendicular to the principal axis of a convex lens

of focal length 15 cm. The distance of the object from the lens is 10 cm. Find
the position, size and the nature of the image formed using the lens formula.

18. 9 feu 7w <1 fashredi § 4 wF AT 3m=1 ® : 3

() o9 % S I qAE AU FAT A H THA BT TG

(i) STA-HULU FN I & A FH1 AHSIA & T H G HIAT |
39 g T T fashed o IR ANl Sl Gl SR |

Which of the two is a better option :

(1 To collect rainwater in ponds or artificial lake or

(1) To let it recharge groundwater by water harvesting ? List four advantages
of the option chosen to justify your answer.

531/2 10
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19. (a)

(b)

(a)

(b)

20. (a)

(b)

(a)

(b)
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U9 o Tk 9 H Iufed fafss gar & steri &t g fafau

A it foh H1e T&Ia: Fedars T g’y & Afirent a1 Fafor =41
HAT €| HIeA R 3T & | Akl &1 fAfor fwu S & < Rl
F WYY § A R | TR ST Toh e SIHRe 37 Tl o 1
oIl ST F ST © ?

Give the number of different types of bonds present in one molecule of

propane.

Explain why carbon forms compounds mainly by covalent bonding.
Explain in brief two reasons for carbon forming a large number of
compounds why does carbon form strong bonds with most other atoms ?

Strameg o1 €2 A fFg ywR 99 €2 Sawdl @t oy fuifa s @t @
fafe=i =1 darg § goia wifSw)

foshreta Hay @ § Siaredl &1 3 fieisi w1 = a6 |

What are fossils ? How are fossils formed ? Describe in brief, two methods

of determining the age of fossils.

List any two roles of fossils in tracing evolutionary relationships.
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21. 5

(a) feu T emi@@ ¥ A, B, C 3R D &l Tg=iqu 3R 39 9m fafau
(b) T fhQ Fed €27 ITHh HEd i AT HIfaT |
© T H o= % e T A HIST | T60 o IH T I JeeTd hIf,

SIREEEEIE ISR

G) e H foefaa 2 €1 () Ha ¥ fasfad g 2

(a) Identify A, B, C and D in the given diagram and write their names.

(b) What is pollination ? Explain its significance.

(c) Explain the process of fertilisation in flowers. Name the parts of the flower
that develop after fertilisation into :
(1) seed, (1) fruit.
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22. (a) 9 A9 & AW fafgu S ST edes 99 & ®9 § fHa S 9 2
foama &t fhg feafa & fau #5390 o9 e fou ¢ demn & giafas s
g

G o= & 99H 9ES w1 ardfas 3R 3w yfafar ?
(i) oTMuTE IR Hiem wfdfers ?
YAk YR H U IW & e & fau feo s Eifew)

(b) TFdr 30 9 F 8 9m F FA FOS D gF o TR F A fe
forear =1 1 gfdfora ST 7 3794 I i gfe & fog forto s Eifem

(a@) Name the lens which can be used as a magnifying glass. For which

position of the object a convex lens form :

(1) areal and inverted image of the same size as that of the object ?
(1) a virtual and erect image ?

Draw ray diagram to justify your answer in each case.

(b) One half of a convex lens is covered with a black paper. Will this lens
produce a complete image of the object ? Draw ray diagram to justify your
answer.

23. et foma &R oToda <UU gRT o 39 3¢ Wit & o= &l U 25 cm §1 5
Ffc T gRT 30 YT —2 €, @ SAU-gI &1 37T Heh fama-gh,
gidforrei-gd qe1 YU i ®Ihd U 1A hITGT | 39 Yhdol H Gfdforrs =1 <M
& foru e st Eifaw aur sm@ § 31 il i ot siferd whifsg

The distance between the object and its inverted image formed by a concave

mirror is 25 cm. If the magnification produced by the mirror is — 2, use mirror
formula to determine the object distance, image distance and the focal length
of the mirror. Draw a ray diagram to illustrate the image formation in this
case and also mark their distances on it.

531/2 13 P.T.O.
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24. (a)

(b)
©

(a)

(b)
©
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TS 3 o 3T 9N R Gl TAET S A3 H G HI dlel FhRT ok GRAT
=1 frifa o €1 =ren wifve fF 3 tEn R 7R #d §2

e 93 H e (gfeuesw) w1 w@ fafeu

Ifg F5 W YA = & FRO FFG T H1 AT o & @ g, @
SH! gfte &fiur (gefet) &1 Sl §, qe SAfad Sien @ Gehdl €1 3H YR i
YT o1 T1GM e hif-a sl 45 SF | 9T ShifHA1 Sl Giaeniyd lsh
fhall ST Wehdl ©| AT &I, I o 999, 79 T & T IR & &
$S U TR |

List the parts of human eye that controls the amount of light entering

into it. Explain how ?

Write the function of Retina in human eye.

If due to some disease or injury, the cornea of an eye is clouded, the vision
is impaired and the person may become blind. This type of blindness may
be cured by replacing the defective cornea with the cornea of the donated
eye. Suggest some measures for motivating people to donate their eyes
after death.

HET -
SECTION - B

25. Hid % AAAHR Wi Y oA ATell Tl fohior FT 99 ARG wd 90 fohd]
BE A A9 e = feu rgER aifceg fo -

HH G Oi Or Oe

I 60° 40° 61°
11 50° 36° 51°
111 40° 26° 40°
IV 30° 20° 31°

Fggf &I % :

@ (I) 3R (D)

(b) (ID) R (10D)

(© (D) 3R 1)

@ (), (IID) 3R (V)
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While tracing the path of a ray of light passing through a rectangular glass

slab, a student tabulated his observations as given below :

S1.No. i Or Le
I 60° 40° 61°

I1 50° 36° 51°
IT1 40° 26° 40°
IV 30° 20° 31°

The correct observations are :
(@ (1) and (II)

() () and (IIT)

(© (II) and (IV)

@ (@), AII) and (IV)

26. TIAA <Y hi HihH U MY A I9F 9 <0 gR fRel gy o= @ 1

yfafarsl 9¢ 9 RIhfad T hl TIE L &1 U W o9 arer Yidiers, foes
& griel H91 B =mfen ?

(@) ©YT AR =gd BleT (b) S AR T
() HTem SR e d) e R wgd B

While determining the focal length of a concave mirror, you try to focus the

image of a distant object formed by the mirror on the screen. The image formed
on the screen, as compared to the object, should be :

(a) erect and highly diminished (b) inverted and enlarged

(¢) erect and enlarged (d) 1inverted and highly diminished

531/2 15 P.T.O.
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27. Hid & fUsH 9 oA et Tehrr o &1 gy IRfEd &d 9899 BE1 A 319
&0 39 YRR KA 6T :

() 9g 9 ®idg H Sd GHA JYH ATAdh & W AT ok G¥Ed Tohrel Tohion

e ¥ R gl B

o N (o

() fsd@ sT9ad® I8 W Y™ fhe0 919 @ Hig § Ja9 Hdl

(i) o0 @ oA W Y™ T IR 4l 21 © 3R T 3ad+ H 98 3TUR
1 AR FHhaT T

(v) T8 § ToRd 99 YT <1 IR STuafdd e ¢ | 9¥H STuadd § I8 Afyers
Y R Fha1 §, Safeh fgda e | 98 A &l 3R Fohd ¢ |

k| Pt % /% :
(2) HIA (1) 9 (i) (b) HAA (iii)
© Hhad (i) T (iv) ) Had () T (iv)

During the experiment, to trace the path of ray of light through the glass
prism, students reported the following observations :

(1) The ray of light from air to glass at the first refracting surface bends away
from the normal after refraction.

(i) At the second refracting surface, light rays entered from air to glass.

(1) Light ray suffers two refractions on passing through a prism and in each
refraction it bends towards the base of the prism.

(iv) Light ray suffers two refractions on passing through a prism. In first
refraction it bends away from the normal while in the second refraction
it bends towards the normal.

The correct observation(s) is/are :

(@) (1) and (11) only (b) (111) only
(¢) (1) and (v) only (d) (@) and (iv) only
531/2 16
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28, fodt B 7 fordl Sy g8 &1 e, e gfafar I9a o9 & 8 W 08 T
T fohal | 59 T9ETd 3HA U i gel foa iR R of| 9§ 8 gu fama w1 faum
4 g 1 Y99 fRma1| oFe o8 9 Q&I T ?

(a) YIRS i SR T gee gfdfo |

(b) " W &I HT Gyl Giafor |

haN o o NS

© i gfafae 72, ifer wei g1 foan mn 2

d) H % HHT W g&T Hl el Ffafa |

A student obtained a sharp inverted image of a distant tree on the screen

placed behind a convex lens. He then removed the screen and tried to look
through the lens in the direction of the object. He would now observe :

(a) a blurred image on the wall of the laboratory

(b) an erect image of the tree on the lens

(c) noimage as the screen has been removed

(d) an inverted image of the tree at the focus of the lens

531/2 17 P.T.O.
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29. B o fordlt g I, aften ¥ fg@ued qun 9 § o &1 980 A & fag 1
e &t T Bl g T 9 daw e fow T E

() M Ffew 7 Fiftew g1 favse foars fen

i) orHen ® qpcll wt SEen feaE 3

(iii) oTHEN 3R A= F Twa HITHRT H HU: fgEved AR qHad & @I ol

o~ e

(v) oTdren H <reffehd sk <1 Gafd el § faurfera &1 @ )

TTH 9l 9& g
(@ @9 (b) ()9 ()
(¢) (1) 9 (1v) @ @9 Gv)

Slides of binary fission in Amoeba and budding in yeast were given for

observation to a group of students. Some of the observations reported by the
group are given below :

(1) Cytokinesis was observed in the yeast cell.
(11) A chain of buds were observed in Amoeba.

(1) Single cell of Amoeba and single cell of yeast were undergoing binary
fission and budding respectively.

(iv) Elongated nucleus was dividing to form two daughter nuclei in Amoeba.

The correctly reported observations are :

(@ @) and (1) (b) (1) and (ii1)
(¢ (1) and (iv) (d) (@) and @iv)
531/2 18
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30. I= ¥ P & faT ¥& wu AT -

() S wE F ford fo¥iv & @ FE qFd WA 2|

(i) ST RITYTRT &1 Fafd shifmeRstl § fawisa 2l §, i ==l St w1 i
AT & S T

(i) SR HE W AAT TH 9 9 D8 TP 34 qpdd 9 Fhdl T |

o haV

(iv) SR HE H FAT Td 9T ool 01 Taehfya gt -1 wdst Sitel o Sl

T

(@ (@), @ 9 @)

®)  Gi), (i) T @iv)

(© (), av) 9 @)

d @), O 9 @)

Select the correct statements for the process of budding in yeast :

(1) A bud arises from a particular region on a parent body.

(1) A parent cell divides into two daughter cells, here the parent identity is
lost.

(1) Before detaching from the parent body a bud may form another bud.
(1v) A bud when detaches from the parent body grows into a new individual.
(@ (), (11) and (ii1)

(b) (1), (i11) and (iv)

() (1), (v) and (1)

) (@v), @) and (i)
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31. ¥ g9 THifceh 77 &l T 9< Tecl arel foend T W IR f et faemm o=@ 1
W AT T, A T eI F ¥ ?

(a) o feeqg 99 TEA & S §, aan fen foems o e & ®a #

(b) e feaeng 93 el & S ®, 9o Hien faeug 93 ften g wWar g

© o foema 99 o« & Wal &, a«n e foeudg 19 ae & S €

) o foema 99 ten € S ®, 991 Tien foens v o € S § )

What is observed when we pour a drop of acetic acid first on red and then on

blue litmus papers ?

(@) Red litmus paper becomes colourless and blue litmus paper remains blue.

(b) Red litmus paper turns blue and blue litmus paper remains blue.

() Red litmus paper remains red and blue litmus paper turns red.

(d) Red litmus paper turns blue and blue litmus paper turns red.
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32. HIE T IR WEAE P, Q, R NS, 5% § 6 mL YA 1 ol &, 39F |
Ty 98 IR fafie Saui &t g9H 7, S wEHd P Sifead FTARES, Q)
T Oiefyem FAREe, ‘R H Hicgad FREs a1 ‘S | AR srEe Sdd 2|
Sk IYAId 98 Ydeh @t H HEH & foeras i 10 9< STerei 3Tkt aHfirE
! welvifa fedma 81 QR 7 H 3w fier Al wEeEH el 8
(@ PAQ
(b) Had P
¢ R4TS
d) HIAQ
A student takes about 6 mL of distilled water in each of the four test tubes
P, Q, R and S, then dissolves in equal amount four different salts namely
sodium chloride in ‘P’, Potassium Chloride in ‘Q’, Calcium Chloride in ‘R’ and
magnesium chloride in ‘S’. He then adds 10 drop of soap solution to each test
tube and shakes its contents. The test tube(s) in which he would observe a
good amount of lather is :
(@) PandQ
(b) Only P
(¢ RandS
(d OnlyQ
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33. Tt woam & fore T aen 39% TSi9 H Hor wd Suoed e €, 9 fomerm !
1 g § e T e F o6 3uersy |

Nes N

) 9HIieIn KIRES;

Nes N

(II) |SIH "hd;

I11) SfeTram FARES;

AV) FHfcaay Tethe;
(V) TIefem FREs;
(VD) Ty Tethe

= faT 7T 37 v ok gHE | 9 98 9Hg g ST I&e dul, S i HSR

S o foT, STH S S Hehar §
@ @, dDn, v) (b) @), dID), (V)
(© dID), aV), (VD) @ D, av), (v

Hard water is not available for an experiment in the school and its vicinity.

However, some salts as given below are available in the school laboratory.
(I) Sodium Chloride

(II) Sodium Sulphate

(IIT) Calcium Chloride

(IV) Calcium Sulphate

(V) Potassium Chloride

(VI) Magnesium Sulphate

Select from the following a group of these salts, each member of which may be
dissolved in water to make it hard.

(@) @), dD, (V) (b) @), AII), (V)
(© L), @V), (VI) (d) dD, @v), (VD
531/2 22

Downl oaded From : http://cbseportal.conl Courtesy : CBSE


http://cbseportal.com/
http://cbseportal.com/

Downl oaded From : http://cbseportal.conl

34. 6 cm T HE o et 390 oW & T&A 319 W Fqa T 9 & G s

35.

36.

Y fam= & T 15 cm B, A1 $HeR1 1807 Fiafams o9 o g8 3R &9 ¥ 30 cm
R ERIANLT AT R AT I FI QA 9L, T T’ N
AN e gidfara g & o fag 9d =1 form foon # (9 &t IR s1¥en o9
Y QW H 3IR) THM B2 glafera &1 A@eA g yhR gerfaa g ?

A 6 cm tall object is placed on the principal axis of a convex lens. The distance

of the object from the optical centre of the lens is 15 cm and its sharp image is
formed at a distance of 30 cm from it on a screen placed on the other side of
the lens. If the object is now moved a little away from the lens, in which
direction (towards the lens or away from the lens) will he have to move the
screen to get a sharp image of the object on it again ? How will the
magnification of the image be affected ?

e ot & @ 1 oiifge qurEE! IR 1 v quiemf & gel s
TR wier a1 o1 faemed S YA | Y Hehdl B

List two physical and two chemical properties of acetic acid which a student

can test in the school laboratory.

3T, Iahal, He-TaM iR UIe® § 9§ A W I 99Ed (3TI89) HEAW §
3R 1 ?

Out of potato, sweet potato, pea tendril and spinach, which two are analogous

structures and why ?
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